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| Directions: Expand each expression.
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Directions: Solve each eguaticn {27 x. Check your cniswer.
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te and solve ar @qu@ﬂ@mm ne t%"”'ﬁ* 2** df"
éim‘w = ssmmﬁ,r =777,n = continuous,t = 2

5%'2{?(- sooe 160, 1.1Q058 = =20

W 1 BOD% T 20
O Mol = 2C =1

2  A=8%143.24,P =8511100,r = 5.1%,n = continuous, t =?
J M3.72% = ) e"‘os‘t 112005 = ©. 0B %

N > 0,05 1T
(2905 & 6.1556 = G065 £

\OBE“ZQDC:) - 0,09\t \t’ = | \lfMS | s
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2.5
| 518. 19- 515,72 @, W 11224 = 3 Sy
| — o=, " . T’
: C’Z'/)L C | O\ D=, 5,91 [ =
\09@\.1’22'4 = 357 (= 0,032

4. A continuously compounded savings account had an initial deposit of $10,000.00 and 10 years later has
a balance of $§13,125.87. At what interest rate was the savings account? :

| 131725, 87 = 10000 ,:_;‘M ey LLAYLASE = \0F
. o0 13 .

\soga\.%nss"‘: = 10¥ ‘= 0.0272

5. $250.00is left in a savings account at 4.0% and the interest is compounded contfinuously. If the balance
is now $330.78. then how many years was the money been in the account? L

330. 13 250 g2 o WA23\2: 0,046
0,7_: Ogmt \
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